Banaras Hindu University

Question Paper Name: 497 20th May 2019 Shift 1
Subject Name: 497

Creation Date; 2019-05-20 15:16:50
Duration: 120

Total Marks: 360

Display Marks: Yes

Share Answer Key With Delivery Yes

Engine:

Actual Answer Key: Yes

Ma _ MSc Psychology

Group Number : 1
Group Id : 45489335
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 360
SECTION 1
Section Id : 45489348
Section Number : 1
Section type: Online
Mandatory or Optional: Optional
Number of Questions: 120
Number of Questionsto be attempted: 120
Section Marks: 360
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 45489353
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 4548934538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Lateal Multiple Choice Cuestion

Which of the following receive stimulation and sensations from parts within
the body like, nwuscles, joints and semicircular canal etc. ?
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Options:



Exteroceptors
| aTEl HITEd

Interoceptors
AT HUTED

Propioceptors
o AT WATEE

Motor nevurons
i BRI

Question Number : 2 Question |d : 4548934539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question
Which of the following is not included within the Central Nervous Svstem ?
Frefafaa § @ &6 &= dfEa 99 & awia J8r e 7
Options:
Spinal cord

T

Cranial nerves

G 5381 | 3 W B |

Medulla

H k:‘ﬁ [%i ]

Thalanuis
4, HET
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

In the resting state, which tvpes of ions are located inside and outside of the
nerve fiber ?
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Options:
Positive ions located both inzide and outside

| SR Ud WIEY ST SN I S

Negative ions outside, positive ions inside
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Negative ions located both inside and outside

5 OTSY UF AR ST SN IS A

Negative ions inside, positive ions outside
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The group factor theory of intelligence was proposed bv ... :
gfEg & waE W e @ oufousa & BT o T |

Options:
Browm

I

Thormdike
o AT TEIS®

Spearman

BB EUE|

Thurstone
S
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the tollowing is not helpful in improving memory ?
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Options:
Using imagery while learning
| T D A ST BT SR
Using massed method of leamning

L]
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Using rhytham while learning
o MR ® A W E ST



Learning at relatively slower speed

4 SETTE S R W S ae
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Acrording to Zeigarnik Effect, what is the relationship between RI (recall of
mterrupted tasks) and RC (recall of completed tasks) ?
SIERTIFE WHT @ SER @R ango (Al 5 79w & warsE) ud o
Wio (qo7 foha1 T I T ACAeEE) H O e 87
Options:

RC iz greater than RI
| oo P AMF SMRoaEo W oIfed BFT

RC and RI are equal
oo T ANoHBe T | a9EY B8O

RI is higher than RC
5 IRoamgo BT AR ARowo W SHfRE Em

RC and RI are unrelated
4 FRoHlo UF aRosge IR B
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Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

‘Bilateral transfer of training is an example of which of the following :
T afers F=faiaa 5 9 e s g 7

Options:
Ability transter
1 AEHEEEr s

Cross education

5 firem s

Warm up effect

T WAT

Specific transfer

4 fafirse s
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In temporal conditioning, what is the sequence of presentation of conditioned
(C5) and unconditioned (UCS) stimwli 7
FIAE AT 1 Agald Ssad (@0 So) vd AR (3FHe @) SndE @
15 (1 el e £ W £ B [ L A
Options:

C5 presented first and UCS afterwards
| e Fo H UNIRT T8l Ud g So A |

UCS and CS presented together
5 3T SO Td 3o Fo UhHEE 9

UCE at regular intervals, CS not presented
5 AT So U ] e 1 B A 1 e R Y (G = e

UCS presented first and CS afterwards
4 3T To o WEGRT TEA U9 o So X A

Question Number : 9 Question Id : 4548934546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which of the following is mot included within the tyvpes of instrumental

learning as proposed by Skinner ?

s e e W e e e = e e s 1 e B i e B | o = W 1
77
Options:

Reward training

| T T

Punishment training
o TUE HEE]

Avoidance training
5 qiEr AfdEor

Skill training

4 THETE wiErer
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ouestion Label : Multiple Choice Question

The 'Attenuation model of selective attention was proposed by whom of the
tollowing ?
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Options:

Treizman

MBI

Dieutsch & Deutsch
5 ST TG YA

Broadbent

[ |@_;F'l-.'_'

Cave 5 Waolfe

4 T UT I
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the tollovwing is not an ‘obijective deternunant’ of attention ?
i R e = e = e e s | e B e e s =7 -

Options:
Size
ST

Repetition
o C IR IR

Social suggestion
5 WA IEEEIE

Contrast
4 HAfRE
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



When despite the individual's desire to keep concentrating on desired area of
focus, his/her attention is diverted, resulting in blocking or diminishing of the
reception of desired information, it refers to which of the following processes ?

B 0 s e e e A =) e T B e ey A T = i M W =2 e e B
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Options:
Fluctuation of attention
| ST faEE

Diistraction of attention
o S fA

Shifting of attention
o STAET TR

Division of attention

g4 ST AT
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
Which of the tollowing is noet a characteristics of figure' ?
(T i G e i e o O s W =7
Options:
Smualler in zize
| AR H S

Clear outlines

2 i W
o HEG RTAEsEl

Higher in object character
5 @ T H FEAN

Appears spatially distant
4 [&m g g B
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Correct Marks: 3 WrongMarks: 1

Cuesticon Label : Multiple Choice Question

In order to perceive apparent movement, what should be the nuninm
temporal gap between the presentation of two light stimuli 7
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Options:
100 nls second

1 100 el wewos

o0 mili zecond
- 90 fett s

75 mili second
2 75 (Aol Hevs

a0 mili second
4 60 R R s
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Lateal Multiple Choice Guestion
Who proposed the Bottom-up process’ theory of perception ?
OeEYT o Gl e T @ e oeefae e e 7
Options:

Max Wertheimer

| qEigr

Herman Von Helimholtz
5 BYHT A BeHETe

Tames Gibzon
o o fiTe

Richard Grecory
Richard Gregon

% e T
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
The 'instinct theorv' of motivation was initially proposed by whom ?
21 e B B 121 i s A 2 e e M 0 2 2 O
Options:

Sigmund Freud

William James

5 faferom =



William McDougall
3 faferm Jagra

Abraham Maslows

4 HETER HIET

Question Number : 17 Question Id : 4548934554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Which of the following is met a characteristic teature of a person with high
‘power motive ?
R i e M e e e 1 e e e e e e e el el e 7
Options:
High egoizm
1. 9= SgH HEAT

Low arousal level
= |_"I"=[ R GRS E

Desire for prestige
= WIS B STRE

High level of ageression

4 T NI AT
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label ; Multiple Choice Question
Which of the tollowing is nof true about emotions ?
wari & fawn | Frefafiag |5 oo g weg @ e ¢
Options:

Repression leads to reduction in intensity
| A AEAr { BH A

Personal conzcious feeling

S R B Gl

Ascociated with teeling disturbed and stressed
S e B M o e e s s M e =

Also contributed by motivation
4 VRO T A ARTA B
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The development of 'Lie Detector' was based on which of the following
phisiological change associated with emotional state ?
(5 T o e ) W ) O - T s e e = | e M M e 3
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Options:

Changes in glandular secretion
| T e i

Chemircal changes in blood
o YA H IS AR

Changes in digestive functions
5. e ufier 7 afEde

Changes in galvanic skin responses
o TS T s |
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Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

"A process associated with finding solution to a problem which can not be
solved by mere reproduction of earlier solution and during which the
individual on the basis of his, her past experiences identifies a sequential set of
arguments, evaluates these, and decides upon a solution” refers to which of the
tollowing ?
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Options:
Autistic thinking
1 AT e

Objective thinking

Creative thinking
5 WS H

Conceptual thinking
4 TS
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Cuestion

At which stage of creative thinking 'the irrelevant ideas get discarded and all
the pertinent ideas produced during the process of search get linked to a
specific desired goal' ?

B D e O e s O . e 2 1 e R B e 2 B
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Options:
Preparation

1.%1_-!:11_ﬁ

Incubation
AaHEA

Mumanation
EEAEIEELE

Verification
= = =
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Correct Marks: 3 WrongMarks: 1

Juestion Label - Multiple Choice Cuestion

According to which theorv, problem solving is conceptualized ‘as an effort to
reorganize the situation and display of a combination of a goal directed rather
than disconnected trial and error responses in order to find the solution' ?

1 25 A o e B o e 3 L e £ O 4 0 (2 e £ 2 = s e 1 B
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Options:
Behaviouristic theorv
1 argErarET (T

Information processing theorv
AT A frET

Gestalt theorv

Psychoanalytical theory
4 PR i
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Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

Which of the following is nof a relevant consideration for selecting a research
problem ?

(R e e s e i B e o i s e G o e R

Options:

Be a positive statement

LR FRe B o e e s B e

Unambiguity in statement
T H AT feTEr

Related to an established theory
3 T 1’1"‘[1‘{1"‘[ W HES T

Availabilitv of suitable tests and tools
o I T T SUEION @ S TEr]
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Correct Marks: 3 Wrong Marks: 1

Couesticon Label ;- Multiple Choice Question

Which ot the following would nof be a verv appropriate source for searching a
‘research problem ?

R e e s P e 1 M e 1 o e A ) o e o £/ )

Options:
Expert z sugzestions
, Tt @ s

General literature

o HIHT HIEw

Research journals
5 ITE T

Previous research work
S BN o ) 2 W
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



Which of the tollowing is not true about a hipothesis ?
fFrefafaa 5 9 ®e-w T afeern & fau @@ J8@ e ¢
Options:

Provides a starting point for research
L T & fery e g wer dee ®

Helptul in making predictions
o Y4 T | WEH® B B

Provides direction to research

Sﬂﬁﬂtﬁ‘rlﬁmqaﬂawﬁ‘%

Unrelated to test & tool development
4 IS U ST e W srerE
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

A hypothesis which states that 'a specific relationship holds good for at least

one case, isknovwnmas ............ hypothesis.
T TNEETT W 48 Hiew e B i g AT wer W W B Uf e §
T T BT & B9 s R&EIAT T T¥E S Il E
Options:
Existential

, E2 | Ean [ I

Alternative

feraedi

Substantial
e

Limnited
HiHa
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the tollowing is not one of the functions of a 'good ' research design ?
Frfafias § 9 ®E-u1 el 5o 2 afieeT & AE 7 W UE T8 5 7

Options:
Help in making an adequate research plan

-,

| T I ATAAT FAF H HETAS B




Help in controlling extraneous variables
5 ATHE TR E FEAT A weraw 2

Help in minimizing systematic variance

o THAG [AERT B NATH B H HETAD T

Help in arriving at conclusive findings

o fipett AfFae Frad a@ 9g= 7 9 B
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Which ot the tollowing method is most appropriate for controlling the effect of
extraneous variables like fatizue, habituation, practice and anticipation ?

S 1 e O = o A e R 1 e 0 i e W o e
B e e e o B 1 B A A

Options:

Screening method

Method of counter-balancing

o HfETHTE e

Method of constancy of condition

o Rer e )

Method of elimination
4 BEIE RN G

Question Number : 29 Question Id : 4548934566 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Problems related with sensitization, effect of maturation, and instriunent decay,
are generally associated with which of the tollowing research designs ?
TR, T WA, U ST BT S e wrEee: frefataa 49
e afyde 3 Jag @ 7
Options:

Factorial design
1 FIEEE ST

Two random group design
o fEra=eiga wiE atlde



Matched group design
o T WE e

Pretest-post test design
4 e eI e e
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Correct Marks: 3 Wrong Marks: 1

Couesticon Label ;- Multiple Choice Question

Which is the most appropriate statistical technique for ascertaining if
mtergroup ditferences exist between the subgroups in a design with two
independent variables with each variable having two levels ?

S T e e O s M e e = T e o 2 e = Mo MO O 1= s e
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Options:

Factorial analvsis of variance

i Hed i HHIO fEger

Chi-square test
G-I TR

One-way analysis of variance
UH-A TN fagery

t-test
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Correct Marks: 3 Wrong Marks: 1

ouestion Label : Multiple Choice Question

It the Mean and Standard Deviation of a distribution are 60 and 8 respectively
then assuming that it is a Normal Distribution what would be the likelv range
of the scores in the distribution ?

B A i A el e e A e e O T B e s o e
e U WA faaer 8 9 faaeer @ wreiesl @ were fawe g B 7

Options:
44 taio
) 44 H 76

Jotao7a

> 36W76



30 to 54
30 7 a4

44 t0 84
44 ¥ 84
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
If in a distribution a larger number of scores are concentrated towards the side
of higher score, then what out of the following would the distribution be called
as ?
e8| O T a0 o T e M 0 5 s = e 0 = [ e e e R 21 s 1 il 1 =4 = W | ML
[ s 7 s e i = M s W 22 s 4 e 2 1
Options:

Pozitively skevwed

] TS = W AT

Negatively skewed
FOTEE W

Normally distributed
T e

Platvkurtic
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Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

In a Normal Probability Distribution, what percentage of cases will fall betveen
~1o and + 20, where 0 denotes Standard Deviation ?

feret ey oo w18 o 79w ff=em o Ffew w5 8 -lo tg + 20 W 9™
fopeT wferere weer fer B 7

Options:

1 81.85%

47.72%

34.15%
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The summation of the deviations of each score of the distribution from which of
the following would always be equal to zero ?
[ i 5 R o M - 75 e ™ e 0= e e O e 2 W 1 ) = e M e e PR A 2

BT 7
Options:
Node
i e

Aszumed Mean
o HETHA

Median
At

Triie Mean
T AT
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
Which of the tollowing is not true for the Median ?
1 o ) W O 1 O O e W s 3 W =7 -
Options:

Based on all values in distribution

A O 7 i o = 1 |

h0% cases lie above it
50% e sHE FIY e BT &

Only suitable for data on ordinal level

AT EAE T F W e S




Can be computed through Ogive
i ARYT B WERE | T
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which of the following is the correct formula for computation of Standard
Deviation it sample is small and scores are ungrouped with X, M and N
denoting raw score, mean and total number of cases respectively ?

A X, M vd N He Ui, AErEE Ua e 96 diel W w1 mEen Fien e
B o uiiss ©ier g 3N dfhel & g=afen 8F U¥ "G faued Sid e @
fAeferiaa % W - e g 7

Options:

> (x-M)

| N
1: .]II

3 (X- My
N-1

I3 (X - My

|
3_\‘ N-1
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Correct Marks: 3 Wrong Marks: 1
uestion Latbeal MLlltiplE _hoice Cuestion
Computation of which of the tollowing takes into consideration only the nuddle
50% of cases of the distribution ?
Frefarfad o st o A @awer @ g 29 & 50% wes @ A F§ o
iy A
Options:
Average Deviation
. e faEeH

Range

y
o Y,
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Standard Deviation
CIEG e

Cruartile Deviation
PR
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Question Label : Multiple Choice GQuestion

If correlation coetticient betwween variable X' and vasiable Y is computed and
the obtained wvalue of r, = 072, then drawing which of the tollowing
conclusion would nof be right ?

ofg == X ug 7 Y & d@" WEwds qUid ®f TOAT $ Anl 8 Td qrw "
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Options:
It X increases Y will also increaze

, T Xagar & dry s we

X and Y are positively correlated
Xwa Y & & gareHd e |

X is the causeof Y
Y w7 T X E

A high association exists betiveen X and Y

=

Xug Y & dar Fegeie @ 9Ead 8
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

When one ot the two variables to be correlated is continuous whereas the other
is dichotomous, then computation of which of the following coefficient of
correlation is considered to be most appropriate ?

B F L) o O 1 7 M R s 1 e [ o S - = 3 R O =01 i =
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Options:
Pearzon's correlation

] B WS Pt s

Point-bizerial correlation

o Tag-fEfiere v



Phi-coetficient
T[T

Spearman s correlation

4 A= e
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Juestion Label - Multiple CThoice Cuestion

Which of the tollowing refers to ‘species-specitic changes ?
Freferfaa / o s e werdr @i gfgdar 9 8 7
Options:

Development

Maturation

= BIEEEE R

Evolution

4. 5 [
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which of the tollowing is nef a true statement about human development ?
5 1 e e e B 2 B (= = i e = 0 s Bl -

Options:
Same for all individuals

i wd] =faomy & fon v s
Follows a predictable pattern

o U TATAT AHE DT ST w8

Each phase has hazards

5 VI v | SATER & e

Aided bv stimmlation

4 TR W EETAT T
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which of the tollowing is considered the most powertul rezearch design for
conducting lite-span developmental research ?

RO SEEEE e T B Frefaiiza 4 o9 e wew oifdemer afiee
AT AT & 7

Options:
Factorial design

L TEET e

Cohort sequential design
THAE AT WHE Sl

Time series deszigns

el A arfisey

Trwin study designs

el e Afime
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Juestion Label - Multiple CThoice Cuestion

In which of the following designs researchers study two or more groups of
participants belonging to different age groups at the same point of time, in
context to some specific variables ?
a1 e A O O 1 e B B 1 e R 1 (L e 1 B O T - .
21T R e ) W o M e i ) el e o O e A = -l Tl
B 7
Options:

Cross sectional

) giafene®

Longitudinal

5 SrEeTer

Matched group
o T W



Case study
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Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

Which of the following theories foruses on transmission of culture from one
generation to the next and views cognitive growth of children as a socially
mediated activity in which children gradually acquire new wavys of thinking
and behaving through cooperative dialogues with more knowledgeable
members of the society ?

5 s O T = 1 O et 21 O e e O B 2 O Ml
BRITORYT U Hiegd B Ud e & WSEITR I 1 U AT AR e
fimn & w9 H AFG § fAwd gw fAee vd SmEEN e & 99 aad WA @
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Options:
Piaget's cognitive developmental theory

. (e e o e ) s = o s = 8 = Pl Fna oM Es A

Vyeotsky's sociocultural theory

R iy AR A I G IR A G E AR R E=

Bandura's social learning theory

Eise e 111 s R R =

Freud's psychoanalytical theory
4 WIS T FAELEATHAT [T
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Intake of which ot the following by the mother is likely to have least harmitul
etfect on the fetus inside her womb ?
e = o e e [ % e M B A e e A T L o e
BTFpTE B 7
Options:

Alcohol

FHTE
1.1?'I_I



Tobacco

o BEEIER

Cafteine
i

Cocaine

[d #] ¥ i
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Approximately by which age a normal infant is generally able to stand alone ?
LR e o W e O O ) s 2 e e At e s
Options:

14 months

1 14 721

O months

O 7o
2_,Hﬁ—l

6 months

o 6 FET

11 months

4 11 #EH
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Juestion Label - Multiple CThoice Cuestion

Which ot the following condition is caused by intake of unbalanced diet which
is very low in protein and usually strikes atter weaning, betvween the age of one
to three vears ?

i e e R 1 A B g 3 7 2 B o = s 1
L1 e 5 M e e O o s e 1w e 1 3 2 M | G 1
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Options:

Marasmus

1, RN



Esvashiorkor

it g

Rickets
EE iTeEs|

Goiter
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Cuestion Label - Multiple Choice Caestion

Which of the following is the correct matching for the stages of cognitive
development proposed by Piaget given in Colunmn-X and the age ranges given
n Column-Y ?

£3R02 5 G Moy A (2o M= 4 M s 11 M =1 O B 1 O = et e 2 £
fear 1 e foat @ WE e fFrefefEe |5 o e # 7

Column - X Column - Y
W - X W o- Y
(a) Preoperational (i) Birth—2vrs
e i W W — 2 T
(b)  Formal operational (i) 2Z2yrs—7 vrs
A wifEes 297 — 799
(c)  Sensorimotor (iti) 7yrs— 11 vrs
waa-aei 799 — 1199
(d) Concrete operational (iv) 11 vrs and older
T TS 1199 3R S99 sifd =y

Options:

a)— (i), (b) — (ii), (o) — (iv), (d) — (i)
1. ¥ ). {b)— (1), (€} — (iv) )

o (2= () (b) — (iii), (c) — (1), (d) — (id)

5 (a) — (iv), (b) — (i), (c) — (iid), (d) - (1)

4 (@)= (), (b) = (), (2) - (@), () — (i)
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Cuestion Label - Multiple Choice Question



Morality which involves "mwtual benefit, reciprocity, and acceptance of
utilitarian rules that make life better for everyone” refers to which stage of moral
development proposed by Kohlberg ?

PrEAET FT uvafEE AR ferw @ e sEen e awerl aw e # e
Vet @, e qT 9 S e @ W o wad o S g
& 81 wiEfed 8 ¢

Options:
Social order

1 AT T T

Sorial contract
HrHTfAE A

Contormity
AT

Universality
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question
Whom of the following proposed the concepts of surface and source traits and
made use of factor analvsis in order to develop a comprehensive measure for
asseszment of normal personality ?
R e e Tt O B B B 0 O ) 1
e e e 1 e R e O 1 3 2 e B e e e e e N |
Options:

Carl Jung
. el o

Gordon W. Allport

[ . N, i
e Sago AT

Ravmond B. Cattell
HTE dlo W

Hans J. Evsenck

, Bl oo STsuln
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Correct Marks: 3 Wrong Marks: 1
Cestion Lakel MU.ltiplE Choice Cuestion
The Rorschach Ink Blot Test of personality assessment contains how many
chromatic and achromatic cards ?
AfTe AMHeE ® I EE wE The H e wrgen ud feae wifags e
Options:

5 chromatic and 5 achromatic

L B YTgE T 5 ¥IfaEr

3 chromatic and 7 achromatic

3T U 7 st

6 chromatic and 4 achromatic

6 FrE Ud 4 fEEE

4 chromatic and 6 achromatic
4 T UE 6 T
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Correct Marks: 3 Wrong Marks: 1

ouestion Label : Multiple Choice Question

According to Evsenck's personality theorv, a person who “tends to be guiet,
introspective, reserved, retlective, distrusttul of impulsive decisions and whe
prefers a well ordered life "will be considered to be of which of the following
fpes ?

SR o A A= i e O = e O i | O 1 B A PO | - b R T
2 e T M 0 o L Y i | s s s e B e 2 £ 1 s e o e e e
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Options:

Extrovert

, el

MNeurotic

Introvert

o AT



Psychotic

” HAETY]
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which of the tollowing is not an essential part of the process of counselling ?
5 1 G P = 3 e = = 5 = i 1 e a2 s [ 3 =
Options:

Nom-evaluative acceptance of client's feelings

R Al B e ) [ 1 o f o [ DS A R ESi E l

1

Giving advice to solve cleint's problem

RIS W WA W B AEE S

Voluntary participation of client
= TRTHET T Ul dAEaThen

Two-way communication betveen client and counsellor

RIS A TRTHIEAT @ drd TR SRy
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

"The ability of a counsellor to understand the feelings of another person from
that person's perspective’ refers to whach of the following ?

O TR TS =1 o 1 0 W B A e W M o s e e G S e L
2R | 1 O 0 s M W =21 | e = S
Options:

Transparency

TR
Svmpathy
o WETAM

Authenticity

AT

Empathy

4 TR
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which of the following will nof be considered an appropriate outcome for the
counselee aiter going through the process of counselling ?
2= 2 O 5 s e O o e 1 T L i e O e O s 5 R e
T T8 w7
Options:

Development of effective behaviour
| WETT SR W A

Pozitive outlook towards life
o5 WA @ A g giten

Depending on counsellor for solving problems

o WA WA B R TR R

Becoming more responsible
stfaes former 81 o

4
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which of the following is not an appropriate alternative of recruitment for an
organization which is in need of additional emplovees due to enhancement in
workload ?
B a1 e B A e W v M B e B e e 2| R e T B R T RS S T I e L
R 1 e e e | e O e i s e i 2 s 1 O M 7
Options:

Overtime
, AfIRET e e HE Tl

Outsourcing

5 aTET | T HATd o= T

Temporary emplovment

5 amerTs

Promotion

4 BRI
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In which tvpe of interview, 'a scenario related to the prospective job that the
mterviewee may be required to handle without sutficient notice or time to
prepare for it, is presented to them in order to assess their analytical and
problem-solving skills in face of job related problems' ?

1S3 0" e = 0 e s B 3 = | S 0 = P s e e W 5 e B i B 1 e g e
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Options:
Structured Interviesys
RS = MG | ES RO A

Unstructured Interviews
I HEERT

Stress Interviews
o TATE HEERT

Situational Interviews
Ui TTHT IR
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question
Which of the tollowing is not an application of job analysis ?
R e W W W P e e L s =2 R = -
Options:

Identification of vacancies
y et @1 fafea &

Preparation of job description
o I U T AN BT

Preparation of job specitications
T fAfimemal @ g we

Designing of training programs
2R AR i e R e A e
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Correct Marks: 3 Wrong Marks: 1

ouestion Label : Multiple Choice Question

In which method of performance appraisal, 'an emplovee is appraised by
hizs /her subordinates, colleaguies, and supervisor(s), as well as by the emplovee
himself ‘herself and this gathered information is then incorporated into that
person s performance review ?

EREIE S o W 12 e i W R e o SO s e 2 £ 1 W B o e i o s o ) | M
Aferdiers % WIN-HT W WHET BT qediid R S § ud g9 wdstE e
i fihy 9w =ifad ® s e § wfeEtad @ fea s &7

Options:
Peer Rating
HHEHE g A

Graphic Rating Scale
SATERET 2AvfioT AR

Selt-rating
-2

360° Feedbark
360° wftgfee
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Which of the following iz not necessarily an objective of performance
appraisal ?
Freafafiad § o - wr-Aees qere & e w1 9 o 5 T8 o8 ¢
Options:

Improving supervisor emyplovee communication

; 00 s e e s e L ) O (G

To aid downsizing decisions
Bk e e i e S T B R T

Facilitate promotion decisions
Erf W O w T

Encouraging performance improvement
G B e s M e | o S 1 1 10 M e
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Cuestion

Which evaluation error would a manager be making, if he/she bazez the
performance appraisal of an emplovee completely on the perceived negative
gualities of the emplovee ?

G| T o M o el s e s 1 M L B B B W s 2 R
el WedfEd VTS YU SN UN T/ Edl B a8 (B UeN & i
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Options:
Horn effect
| BT W

Stereotvping
L3l Rl EiE

Inadequate information error
o HTATE TEAT FE

Attribution ervor
ORI FiE
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ouestion Label : Multiple Choice Question

The frst scientitic approach to accident causation was presented by H. W.
Heinrich through his ............. theory.

FHEAIE] F B E A WA AEEE SEew A frgra @ N1 wEe

Options:
Human Factory Theorv
AT Hed RTET

ki

Domino Theory
5 I frEra

Human Error Theory

MEEIRRE

Incident Causation Theory

= Fois | S ) [ AR e Pt
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which of the tollowing is a 'direct' rather than an 'indirect cost of accidents ?
R e e 21 = | e 1 e e = B | B o B 1)

Options:

Emplovee cost during his absence due to accident

o i e e e s o i i e e A e o | e R LRI

1.
Cost of lost time due to other employee's assisting the injured

. o3 R 2 e 1 d B o 1 B M2 1 A e 2 M e O L
Cost of supervisor's time spent in investigation of accident

. FEHEAT 6 ARG H AT & A AT T F AT

Cost incurred in training the replacement worker

" 181 T 201 o e e s e | s ke B ) o | ARG 1 KA
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which of the following measures refers to 'subjecting each area of a company's
activity to systematic critical examination with the object of minimizing loss
due to accidents ?

TEEAT @ W B AT AEAE BT FATH B 6 Saesd § me & i
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Options:
Safetv planning

HET AT

Satety inspection

R FAET T

Safety survey

RET A

Satety audit

o T T e
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ouestion Label : Multiple Choice Question

Which of the tollowing is not an emotional motive for buyving behaviowur ?
o I o M 2 M i e VM o B S - R 7
Options:

Monetary gain

affEres @

Love of others
et @ e um

Ermulation of others

AR i e

Vanity
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Cuestion Label - Multiple Choice Question

Which of the following consumer decision stvle is characterized by 'a
consumer s tendency to follow a routine purchase pattern on each purchase
occasion not involving much evaluation and having a well tormed pattern in
choosing ?

G E e e PO . D Rt s R R o I 1 LA R M T i M e I - M
LR I s e B e B o e Y e s e | M B s S
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Options:
Brand ronsciousness

| ETE SATESTE

Cualitv consciousness

URERIE R

Habitual lovalty
S IE e B L

Price consriousness

, T SlCEG
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ouestion Label : Multiple Choice Question

A major ditficulty we encounter in problem solving is the cognitive limitations

imposed by ... :
HHEN TAET H BH AT A a9 HoAE B AT B E a8 & FTT 4T

g FEETHS WHEE E

Options:
Long term memory

Short term memory

Both short term memory and long ternm memory

A TfeTs 3T et Wi s

Perceptual svstemns
AT T T
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the tollowing measures by the team coach would not be effective in
enhancing the morale of the sports team ?
(o =1 A = O e A W o e s M | i | W e s e s e e B
A B AfgE we wg wErE T8 e 7

Options:
Enhancing interpersonal comunmumnication
ST Al TR st e

Making sports a source of enjoviment
el W AFHE w5 AT

Dizciplining tor failure by penalizing
TUE BRI Sl & O R wee

Setting goals for the plavers
, TenfSat @ forg wen Faffe e
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Cuestion Label : Multiple Choice Question



Which of the tollowing should nof be exhibited by a true sportsman ?
[t el fgenmst @& g1 FsfafEa | W @ usfiia F81 oo anee ¢

Options:
Being persistent

1 e Wl B

Maintaining self control

AT G TR

Being fair in sports situations

Tl e | S S

Forusing on winning by any means

(21 M B K I 1 e R T ) =T M
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which of the tellowing statement is nef true about social psvchology ?
81 1 e 1 e e e O i e M e i s | e R et B = A

Options:
Foruses on causes of individual behaviour in sorial situations

T gt | =i & =EEr 0 Haeg

Studies individual's congnitions in context to social situations
e AR & wed |7 =iEn @ st w5 s

Adopts a common sense approach to understand social behaviour

8111 e = el ) B o M O | ) e s L S

Believes in occurrence of all behaviour in a social context
4 TE fegard @1 |47 =EER wEleE Wed | g
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Cuestion Label : Multiple Choice Question

Historicallv, who of the tollowing is credited with conduction and publication
of the first experumental study in the area of social psychology 7

TR =9 | ArAifes AEsT o " OHaus riiiTe aETIE 6 wEee ud
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Options:



William McDugall

Furt Lewin

Norman Triplett
L B

Muzater Sherif

SN EERa IRl
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Question Label : Multiple Choice Question
Which of the tollowing is not an advantage while using 'participant observation’
as a research method in social psychological rezearch ?
At FaTasnfaE o | ooy fafe & wu # wearft verr o Suamr w0y
Freifarfiad & o ®-w vm ae T8t 8 v
Options:
Observation of realistic & natural behaviour

] A Ud UTROE SEER E e

Obzerver s involvement with pasticipants over time
Y H Held ® WEHiTai W 8

Obtaining in-depth & meaningtul information
el U SOl YRR AT E

Possibility of recording spontaneous behaviours
T T SR @ eI 5 AwsE
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Juestion Label - Multiple CThoice Cuestion

Which of the following is a disadvantage of planning a study with face-to-tace
administration of questionnaire in social psychological research ?

g M 6 o 0 e T 1 e e < | T e D R R R R
I e S B 7

Options:



Reduction in tinme consuwmed
[ Rl B s B s s A B T e

Enhancement in validity of responses

1 e e e e e e e

Possibility of adding probe questions
TENTS O WY B WIAT 1 IS 1 T

Respondent selection being based on accessibility
DR e e R S DI B R B R |
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Cuestion Label - Multiple Choice Cuestion

Which of the tollowing is not an eszential condition tor formation of a group ?
RS s O < B e e £ 1 B e e G e = L e 7

Options:
Mininmim bwvo individuals
L F W EE al fde

Common goals
e W HIEEN

Interdependence

o TR A

Direct infteraction

4 HEET TR
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uestion Label - Multiple Choice Cuestion

A major difference between ............. and ... . groups is, that the
former groups are pre-existing formations which are wsually given to the
mdividual, whereas, the latter group are those which the mndividual joins by
choice.
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Formal, Informal
AT, AT

Primarv, Secondary

12 311 6 P e IR

In-group, Out-group
AR, ATEl HHE

Membership, Reference
e, HaW
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Cuestion Label - Multiple Choice Cuestion

"A change in behaviowr of an individual that occurs as a result of being
requested by another person or group to act in a specific manner, and where
the individual acts in the expected manner even though it was possible for
her,/him to refuse or decline”, refers to which of the tollowing ?
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Options:
Conformity
AT

Obedience

Compliance

- BEEl]

Sorial facilitation

AT HHTE
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Cuestion Label - Multiple Choice Cuestion

Which of the following is not included within the components of attitude ?
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Options:

Motivation

AT

Cognition
T

Behaviour
EIFEIE

Affert
AT
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Juestion Label - Multiple CThoice Cuestion

"When the components, aspects or elements of the attitude, or attitude svstem,
are in the same direction’, it refers to which of the following ?
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Options:

Attitudinal complexity

atfigeTeE Al

Cognitive dissonance
TS ST

Attitudinal simplicity
APETHSE Y]

Cognitive consistency
HETHE AT
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Question Label : Multiple Choice Question

Negative behaviour directed towards members of social groups who are object
of prejudice’, refers to which of the following ?
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Neglect
R

Stereotipe

e

Dhzcrmination

[ECEETL|

Marginalization
EIECIC L
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Juestion Label - Multiple Choice Cuestion

When 'the target group's manner of behaviowr provides confirmation of a
stereotvpe, to which of the following sources of stereotype does it refer to ?
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Selt fultilling prophecy
| T T A

sCapegoating
a'|-5-| ] T G

Kermnel of truth concept
5 AT T A R

In-group biazing
4 ATEAE e
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Couesticon Label ;- Multiple Choice Question

Which of the following is mot a characteristic feature of a 'trantormational
leader ?
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Options:
Emphasis on intrinsic motivation of followers
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Taking derisions by zelf on behalt of group members

o VE e & A = e
Highlighting group priorities
5 W W AAEAr 1 A He

Promoting cooperation and harmony

4 R e 10 o e B £ 1 B 1 B e O

Question Number : 82 Question Id : 4548934619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple Choice Cuestion

Which theory of leadership posits that There is no one best style of leadership
and the effectiveness of a leader depends upon the correct match between
his,/her leadership style and the situation' ?
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Options:

Contingency theorv

ST T

Leader-member exchange theorv

AA-HYE HEw AnEH-ua fAEm

Transactional leadership theory
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Transformational leadership theory
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Juestion Label - Multiple CThoice Cuestion

The major functions of which of the following cells are to maintain homeostasis,
form mivelin, and provide protection for neurons ?
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Blood cell=
| VT T

Glial cells
(eTT I

Muscle cells
i SRIfETET

Stem cells

4 A TH IR
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Cuesticon Label : Multiple Choice Question

Which of the following cranial nerve is responsible for the control of vital
organs like heart, luns and digestive tract ?
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Abducens nerve

UEE AR T

Hvpoglossal nerve

i i
slgHP AT =4

Trigenuinal nerve

CTES A At

Vagus nerve

EUEEGIEER)
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ouestion Label : Multiple Choice Question



Which of the following part of the central nervous svstem is associated with
receiving information from the sensory systems, the spinal cord, and other
parts of the brain and then regulating motor movements, mainly coordinating
the voluntary movements ?
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Options:
Thalamuis

Cerebellum

i awy

Medulla
AT

Pons

o=
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ouestion Label : Multiple Choice Question

What type of change would take place in the Basal Metabolic Rate it there is a
sudden rise in bodyv temperature as during fever ?
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Options:
Increment

Decrement

21

No change

g uiadE AE

Fluctuation

L e
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ouestion Label : Multiple Choice Question

The control of human metabolism is done through the action of which of the
following glands ?
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Options:
Parathyroid
| TRETRTIS
Pancreas

Thyroid

Adrenal
MERS
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Juestion Label - Multiple Choice Cuestion

The cones which are the colour receptors of the lnuman eve contain which of the
tollowing chemical ?
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Options:
Vitreous humor
fafgr sy

Iodopszm

Anre

Rhodopzin
TETETTA

Aqueous humor

o T A
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ouestion Label : Multiple Choice Question

The Resonance or Place theorv' of hearing was originally proposed by whom of
the following ?
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Options:

Herring

-
= |
h

1.

Wever and Brav

zzﬁﬁ?Tz?ia

Rutherford
3. ?.. : IL__I_,

Helmholtz

4 BEIBIFCY
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Question Label : Multiple Choice Question

If on presentation of a stimuli with a particular value it's sensation is present
50% of times and absent 50% of times then what would the value of the stinli
be called ?
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Terminal theeshold
1 HIHIAT AT 1T

Absolute threshold

5 et AT

Differential threshold

5 fepras wreeim

Point of subjective equality
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Cuestion Label @ Multiple Choice Question



‘Space Error and Movement Error’ are associated with which of the tollowing
psvchophysical method ?
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Options:
Method of Limits
RN EIE

Method of Constant Stimali
5 e Sie fafe

Method of Average Error
3 ST qﬁ" ferte

Serial Exploration Method
4 Wi s i
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ouestion Label : Multiple Choice Question

In which of the tollowing scales response to given statements are on a category
scale that has brief descriptions associated with each, assuming that distances
betwveen each category are equal and the respondent is expected to select that
category which best describes his /her response to the given statement’ ?
fFrefaftas |4 o g Aret | @3 wa we & ufa & W aren sgihard ud
Fifgre] AU 9Y BT E, AE A g9 fds i @ A @ o avdy B, 0ead @i o
Wag g e G0 g 8 o ufteeft | anen & wwn & 5 9w 9w 9 @
G 2 e i 1 e e B 5 20 B ) B = e e i e | e e e 4

Options:
Lickert Scale
, e At

Paired Comparison Scale

o T IO AT

Fanlk Order Scale
Rl i e

Q-sort Seale
i TS AT
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Cuesticon Label : Multiple Choice Question



Whom of the following conceptualized 'stress as a product of a transaction
betvveen a person and his or her complex environment and proposed the
concepts of ‘primary’ and 'secondary’ appraisal of stressful situation which
influence one's response to stress' ?
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Options:
Suzanne C. Kobaza
[l FHio Hrar

Hans Selve
B TSI

Holimes &= Rahe
BT U WIE

Richard Lazarus

4 freme e
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Cuestion Label - Multiple Choice Cuestion

Under which of the following condition of the stress the negative consequences
of the stress are likely to be lessened ?
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Options:
Being chronic

Being expected
o SIS B

Being long-term

5 STl B

Being intensze
4 3 ...l' ? I q
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Cuestion Label - Multiple Choice Question



Which of the following refers to 'the skill that helps the individual to
comurunicate his her feelings, needs, and thoughts, clearlv and confidently
and is associated with the ability to clearlv sav no to a request, to express one s
opinions or emotions openly without being self-conscious' ?
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Hardiness

HTEfHE

Resilience

s

Self-confidence

AT T

Assertiveness
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Juestion Label - Multiple CThoice Cuestion

Which of the following is nof associated with the humanistic perspective of
psvchopathology ?
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Options:
Belief in human potential
"I WA W ey

Awvailability of positive regard
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Availability of reinforcement
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Respectiul attitude of therapists
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ouestion Label : Multiple Choice Question
The lowered level: of the neurotransmitter serotonin and endorphins are
believed to be associated with which of the following psychological condition ?
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Options:

Depression
1 SERATE

Anxiety

EHEC ]

High arousal
g SRl

Calnmess
=R
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Cesticon Label ;- Multiple Choice Question

Which of the following stvle of parenting is likely to results in development of
moodiness, low self-esteem, problems with peer relations az well as conduct
problems in the children ?
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Options:
Auythoritative

Rt

Authoritarian
e HE

Neglecttul

Permi==ive

” HFETHE
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ouestion Label : Multiple Choice Question

In which of the tollowing vear was the fitth update of Diagnostic and Statistical
Manual of Mental Dizorder (DSM-5) published ?
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Options:
2015
1.

2007

2011
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Cestion Lakel MU.ltiplE Choice Cuestion

The International Classification of Disease or the ICD svstem of classification
which was produced by World Health Organization is ratified byrall e
WHO member countries.
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153
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Cuestion Label : Multiple Choice Question



In which of the following dizorders 'a person experiences neurological
symptoms which are not attributable to anv medical condition and which can
actually affect motor functions and senses ?
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Options:
Malingering

| XTGBT

Hypochondriasis

o AATHH

Corvversion dizorder
5 TR feremT
Phobic disorder
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Cuestion Label @ Multiple Choice Question

Which of the following is not a key symptom of Schizophrenia according to
DEM-5?
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Options:

Delusional thinking

AT fa

Behaviowral dizinhibition
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Hallucination

e

Disorganized speech
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Cuestion Label - Multiple Choice Cuestion



Which of the following newrocognitive disorder is not included within the
tvpes of dementia ?
S R 1 e e | B 30 w0 T i = w0 e e W M 1 g M 7

Options:
Delirium

il

Alzheimer

ATENEHT

Pick's disease

EERIE|

Huntington dizeaze
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Cesticon Label ;- Multiple Choice Question

Which of the following is not a diagnostic criterion for depression according to
DSM-5 ?
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Options:
Diminished interest
| o A ErE

Physical activeness
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Indecisiveness

5 At

Dininished concentration

4 T H BT

Question Number : 105 Question Id : 4548934642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question



'A child who violates the right= of others, displavs aggressive behaviour towards
people or animals, steals or deliberately destrovs other's property, and who
lacks empathy, is likely to be suftering trom which of the following ?
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Options:
Paranoid personality disorder

=R =R AT

Attention Deticit Hyperactivity disorder
EHIE S A T

Oyppositional defiant disorder
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Conduct disorder
4 ATENOT faET
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Cuestion Label @ Multiple Choice Question

Which of the following iz not a characteristic feature of 'Alcohol Withdrawval
Delirium' ?
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Options:
Low Blood Pressure
1 =1 werTET

Dizorientation of time and place
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Vivid hallucinations of fast moving animals
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Marked tremors of hands, tongue & lips
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Cuestion Label : Multiple Choice Question



Which of the following is pharmacologically #ot a narcotic but a stimulant
drug ?
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Options:

Heroine

EiEe]
1. :

Opium
AT

Cocaine
TR

Morphine
AT
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Cuestion Label : Multiple Choice Question

Which of the following iz mot associated with psvchoanalvtical therapy
process ?
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Options:
Empathy

,

Transference
AT

Interpretation
(=) ".‘:-'—”

Free association
A HTEE
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Juestion Label : Multiple Choice Question

Rational Emotive Therapy' as a psychotherapeutic technique is based on the
theoretical conceptualizations of which of the following psvchologists 7
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Options:
Ivan Pavlowv

| SrgaT EIgL:

B.F. Skinner

5 dro o R

Albert Bandura
ST Amg

Albest Ellis
4 ATEC uferd
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uestion Label - Multiple Choice Cuestion

Which of the following behaviour therapy techniques are nof based on the
teriets of classical conditioning ?
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Options:

Token economy

| R aTelemaTen
Aversion therapy
feream et

Flooding
LSRR

Svstematic desensitization
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Juestion Label - Multiple CThoice Cuestion

Providing empathic understanding, warmth, unconditional positive regard,
and reflection of clients feeling in non-judgemental manners are main features
of which of the following therapy ?
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Psychoanalytic

HAT e oo S

Client centered

Ifl A

Cognitive behavioural
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Exiastential
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Juestion Label - Multiple Choice Cuestion

Mental retardation was renamed as Intellectual disability’ in which of the
tollowing edition ot D. 5. M. ?
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Options:

DSM-ITI-R

BlotHoTH-III-30

DEM-IV
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DSM-IV-TR
5 EOTHOTHO-IV-Eoairo

DEM-5
S0 THoTHO-5
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion



Which of the following is the correct matching between the Type of Intellectual
Disability' given in Column - A and the causes given in Column - B ?
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Column - A Column - B
WA - A W™ - B
(a) Down Syndrome (i) Lack of a particular liver enzyvme
ETS HaAam BN E L e G e R R A |
(by Hydrocephalv (i) Trisomy 21
(c) Phenyleketonuria {iii} Arrest of brain development of fetus
g eTe R o & Al (AT | s
(d) Microcephaly (iv) Accumulation of cerebrospinal tluid
EESIED EE Rl - Rl b
Options:
, (@ =@ (b) = (1), (e} — (@), (d) — (122)
o (@)= (), (b) — @), (e) — (v), () — (1)
5 (@)= (@) (b) — (i), (c) — (iv), (d) — (i)

i (a)— (iv), (b) — (i), (c) — (itd), (d) — (@)
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Cuestion Latbel Multiple _holce Cuestion
Which ot the following is not a true statement about the Interval level of
measurement ?
e B TR o e M e 0 1 M O | . M s M B | 8 s M 7 =S
Options:

A real zero exists

Unit of measurement exists

zmq——rzr’i'*zmﬁﬁﬁmﬂﬁ?ﬁ?

Values are ordered

5 wf¥rar @9 | B B



Conzecutive values are at unit distance
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Juestion Label - Multiple CThoice Cuestion
Which of the tollowing is not involved in the process of ‘item analysis ?
qe-fazere o afi | Freefafag § w5 g wi=tza T8 2 7
Options:
Item difficulty analysis

A o vy O e e R

Itemn discrimination analysis

EEREEEE BB L

Item writing
g wEe

Distractor analvsis
AT faz oy
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Cuestion Label : Multiple Choice Question

Which tvpe of wvaliditv refers to 'the degree to which two psychological
constructs that should theoretically be related, are in fact related ?
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Options:
Concurrent validity
| Y e
Criterion validity

0 e M o Ew e 2

Content validity
S | R |



Convergent validity
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Cesticon Label ;- Multiple Choice Question

Which ot the tollowing is #of one of the basis of analysis of Rorschach Ink Blot
test responises of a client ?
[ R 6 R e e e 1 B G o e e B 2 e e e ) 5 7 o |
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Options:

Location

T T

Thema

] THT

Content
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Determinant
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Couestion Label | Multiple Choice Cuestion

The NEO-FFI personality inventory was developed by whom of the tollowing ?
THogodle-ThoHoaTge =i el @1 fawm FA=fatea 5 w e gw
TAT AT 7

Options:
5. R Hathaway and J. C. McKinley
THe dWe FUTd U9 oo Wo #fde

1
K. C. Briggs & L B. Myers
o @0 o A vd anmgo o i

P. Costa & R R McCrae
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Ravmond B. Cattell
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The origin Binet-Simon test consisted of how many items 7
[E=-Tga= 99T & Hd w9 A fdeae 98 o ?

Options:

55
1
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion
Which of the following is #ot a performance sub-scale of Wechsler Adult
Intelligence Srale-IV ?
frefafiza 5 @ ®A- 9ver vesw gefaerd ArE-IV @ AemEs sooemiE § o9
T qol B 7
Options:
Identitving similarities

Picture completion

fers gv=

Svmbol search
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Matrix reasoning
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which one of the following tirst considered conscious experience as a process ?
Options:

; McDougall

William James
William Wundt

Tichner
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Juestion Label - Multiple CThoice Cuestion

Which one of the following proposed "5-0-R” model of behaviour ?

Options:
; Woodsvorth
5 Cattell

AT o
Watzon
=

Thorndike
g
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which one of the following is the main characteristic of experimental method ?

Options:
) Generalization

Manipulation of variables
Randomization

i Elimination
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which one of the following defined personality as a dynamic organization of
psvcho-physical systems ?

Options:
Cattell

Allport
Ebbinghaus

Sullivan
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Cuestion Label - Multiple Choice Cuestion

Which one of the tollowing is not a projective test of personalitv assessment ?

Options:
i Rorschach Ink Blot test

5 TAT

4 Evsenck Personality Inventory



Sentence-Completion test
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which one of the following is considered as seat of emotions ?

Options:

Thalamuais

5 Hypothalanws
Peripheral nervous svstem

Limbic system
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which one of the following developed the "Stanford-Binet Intelligence Scale” 7

Options:

Binet
Stanford
Terman

Cattell
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

"Alexender Pass Along Test' measures :

Options:

; General factors of intelligence

Motor performance



Mental retardation

Concrete intelligence
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which one of the following is not included in Thorndike's lavs of learning ?

Options:

i Law of readiness
Law of exercise
=
Law of simnilarity

L Lawe of effect
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label @ Multiple Choice Question

Who among the tollowing propounded “instrumental conditioning theory of
learning ?

Options:

L Pavlov

Watzon
2.

Skinner
=

i Ebbinghaus
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

When e perceive a stable object moving, it is referred to as ;
Options:

) Autokinetic effect



5 Phi-phenomenon

. Displacement

4 Induced movement
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Couesticon Label ;- Multiple Choice Question

Which one of the tollowing is not a law of perceptual organization ?
Options:

, Law of similarity

5 Law of frequency

5 Law of proximuty

Law of continuity
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which one of the following is responsible tor colour sensation ?

Options:
) Bipolar cell

Rods
2.

5 Cones

i Ganglian cell
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the tollowing is most important part of hearing svstem ?

Options:



Cochle:
, Cochlea

Semi-circular canal

= Pinna

4 Custachain tube
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

When the later learning interteres with the recall ot previous learning, it is
called :

Options:

1 Reactive inhibition

> Proactive inhibition

5 Retroactive inhibition

4 Artive interference
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Who started use of "nonsense svllables” in the study of memozv ?

Options:

, Ebbinghaus

> Bartlett

= Atkinzon

” Jenkins
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

According to Bartlett, forgetting is a -



Options:

) Constructive mental process

5 Reproductive mental process

2 Artive mental process

” Disturbed mental process
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which one of the following is most sensitive method of measuring retention ?

Options:

1 Rercall method

> Recognition method

3 Releasing method

4 Reconstruiction method
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
Who tor the first time suggested the application of principles of psychology in
improving industrial efficiency ?
Options:
Gilmer

5 Herzberg
Hoppock
= B

Munsterberg
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question



Which one of the following is real determinant of heredity ?
Options:
Genes
1.
5 Chromosomes

5 MNeurones

Cytoplasm
4.

Sub-Section Number: 2
Sub-Section 1d: 45489355
Question Shuffling Allowed : Yes
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Correct Marks: 3 Wrong Marks: 1
CQuestion Label : Multiple Choice Question

The boundary between India and Pakistan was demarcated by -

Options:
) Lord Mountabatten

Sir Cyril Radelitt
Sir Lawrence

Sir Statford Cripps

Question Number : 142 Question Id : 4548934679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

The Quit India Resolution was ratified bv the Congress in its session :

Options:
] Sth August 1942, Bombav

5 11th February 1922, Gaya

5 20th December 1929, Lahore



4 December 1920, Magpur

Question Number : 143 Question 1d : 4548934680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Who was not associated with the Self-Respect Movement' in Tamilnadu ?

Options:
i B. R. Ambedkar

Perivar
Soviet-Socializm

Fudi Arasu

Question Number : 144 Question Id : 4548934681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The dalit conumunity which strongly supported Mahatma Gandhi was
Options:

1 MNamasudras

Iravas

Vankars

Mahars
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

‘Rashtriva Sevika Samiti, the women's wing of R5S, was founded in vear :
Options:

1 1835

5 1936
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The name of ashram tounded by Gandhiji in Atrica was :

Options:
Durban farm

5 Phoenix tarm

Matal farm
=

Sabarmati farm
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Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

To accommodate demand tor Pakistan the constitution of Muslim League was
amended in vear :

Options:
1937

1930
i

o4
3.1 [

1941
4.
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The Red Sea is an example of

Options:
Folded structure



5 Faulted structure

5 Lava structure

j Residual structure
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

1

What produces a basket of eggs topography ?

Options:

; Wave Erosion

5 Glacial Erosion

3 Wind Deposition

i Glacial Deposition
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Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

The theorv which believes that the South America and Africa were once joined
together

Options:

i Continental dritt theorv

> Tetrahedral theorv

. Flate Tectonic theoryv

4 Ritter's theory
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the tollowing is not planetary winds ?

Options:



Easterlies
, Fasterke

Westerlies
it
- Drainage winds

4 Trade winds
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Correct Marks: 3 WrongMarks: 1
Question Label : Multiple Choice Question
Ferrel's law is concerned with -

Options:
i direction of winds

- velocity of winds

. intensity of waves

, intensity of light
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Correct Marks: 3 Wrong Marks: 1
CQuestion Label : Multiple Choice Question

The tirst woman Vice-Chancellor appointed in Janda Milia Islamia University is

Options:

1 MNajma Akhtar

Sabiri Ehatoon
Najma Heptullah

Sara Malik
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Juestion Label - Multiple CThoice Cuestion

International Dav of Human space tlight is celebrated each vear on -



Options:

L April 10

o April 11
o April 12

i May 13
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Caestion
Where the World Water Summit was held, in which Namami Gange
Programune' was awarded :
Options:
Brisbane

5 JTohanasburg

Mmnbad

4 Lonidon
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

A private company which launched the First Moon Mission is :
Options:

. Boeing

Sparce Axe
Hawks
=

i Lockheed Martin
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ouestion Label : Multiple Choice Question

The Central Conunittee has approved creations of a new post in the otfice of
Comptroller & Auditor General of India (CAG). This new post is :

Options:

1 Chief Comptroller & Auditor General of India

> Deputy Comptroller & Auditor General of India
. Assistant Comptroller & Auditor General of India

, Additional Comptroller & Auditor General of India
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

The rank of India in World Press Freedom Index, 2019 is -

Options:

1 140th

5 135th

=z 136th

4 126th
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Cuestion Label @ Multiple Choice Question

The biggest Artiticial Intelligence (Al) Summit of the world will be organized
in:

Options:
India
1

France
2.
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Cuestion

Pulitzer Prize, 2019 was given to a Newspaper for dizclosing information about
the American President Donald Trumyp and his family member. The name of
that Newspaper is -

Options:

1 MNew York Times

5 The Times

YATA=TRa A
=z Washington Post

2 The Advocate
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The scientists who have successfully made artificial 3D heart belong to

Options:
1 China

Anerica
z.

= Israel

” India
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Cuestion Label : Multiple Choice Question

Satellite RAVAN-1 has been launched by :

Options:

1 Pakistan

5 India

5 o Lanka



2 China
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The world s first armed amphibian drone boat was successtully tested by -

Options:

1 China

o Izrael

France
=,

America
4,
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Cuestion Label : Multiple Choice Question

75th anniversary of Kanglatongbi war was celebrated recently. Kanglatongbi is
situated in -

Options:

1 Mizoram

5 Mand pur

5 Nagaland

s Andhra Pradesh
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The first company in Australia to start drone delivery service is :
Options:

1 E-Bav

. Flipkart



. Amaron

5 Google
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Question Number : 166 Question Id : 4548934703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

In the following question four words have been given, out of which three are
alike in some manner and the fourth one is different. Choose out the odd one.

Options:

1 Gallon
5 Ton

5 Quuntal

4 Kilogram
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ouestion Label : Multiple Choice Question

Choose one out of the four given alternatives, which mentions the quality,
conuron to the three given words.

Stool - Table : Chair

Options:
Ot
1 ice

5 Carpet

= Bench

4 Furniture

Question Number : 168 Question Id : 4548934705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

In the following question four numbers are given out of which three are alike in
some manner while one is different. Choose the ane which is different from the
rest three.

Options:

2468
1 2465

Question Number : 169 Question Id : 4548934706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Caestion

In the following guestion four groups of letters are given. Three of them are
alike in a certain wav while one is ditferent. Choose the odd one.

Options:

, PUT

N
5 END

= OWL

5 ARM

Question Number : 170 Question Id : 4548934707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

Choose the correct alternative that will continue the same pattern to fill in the
blank space :

5,9, 17,29, 45 ()

Options:
al



Question Number : 171 Question Id : 4548934708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

In the following question, one term in the number series is wrong. Find out the
wrong term.

5,10, 17, 24, 37

Options:

i 10

17

24

a4

Question Number : 172 Question Id : 4548934709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
CQuestion Label : Multiple Choice Question

I FRAGRANCE is written as SBHSBODFEG, hovw can IMPOSING be written 7

Options:

, NQPIHOJ

NQPTJOHI
NQTPJOH]

NQPTJOH]

Question Number : 173 Question 1d : 4548934710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

If MISTAKE iz coded as 9765412 and NAKFED is coded as 84123, then how
ASSIST i= coded ?

Options:

lob7a2
1.



Question Number : 174 Question 1d : 4548934711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
QU.EStiOﬂ Label : Multiple —hoice QUEStiOﬂ
In a certain code, 37 means which class' and '583' means 'raste and class'. What

is the code for 'caste’ ?

Options:
1:. 2
gt
3
3.

i Either Sor 3

Question Number : 175 Question Id : 4548934712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Question

In a certain code language 479" means 'fruit is sweel’; 248" means 'very swee
voice’ and '637 means 'eat fruit daily’. Which digit stands for 'is” in that code ?

Options:
1"
0
2.
4
3.

4 None of the three

Question Number : 176 Question 1d : 4548934713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question



Rasik walks 20 m North. Then he turns right and walks 30 m. Then he turmns
right and walks 35 m. Then he turns left and walks 15 m. Then he again turns
left and walks 15 mu. In which direction and how many metres away is he trom
his original position ?

Options:

15 metres West
30 metres East
30 metres West

45 metres East
g

Question Number : 177 Question Id : 4548934714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

One morning atter sunrise, Reeta and Kavita were talking to each other tace to
tace at Tilak Square. It Kavita's shadow was exactly to the right of Reeta, which
direction Kavita was facing ?

Options:

1 MNorth

5 South

= East

4 Datainadequate

Question Number : 178 Question Id : 4548934715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label | Multiple Choice Guestion

How many pairs of letters are there in the word SEQUENTIAL which have as
many letters betvveen them as are in the alphabet ?

Options:

One
-

5 T

Three



Four

Question Number : 179 Question 1d : 4548934716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

If + means —, — means ¥, ¥ means + and = means +, then -
I5x3+15+5-2=7

Options:

1,9

10

20

Question Number : 180 Question 1d : 4548934717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuesticon Label : Multiple Choice Question

It a means ‘plus, b means 'minus’, ¢ means ‘muldtiplied by’ and d means 'divided
by, then IScliabblod4i=7?

Options:

a3
1.

Question Number : 181 Question Id : 4548934718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
How many 3's are there in the following sequence which are neither preceded
bv 6 nor immediately tollowed by 9 ?
93663959378916359639

Options:

Ox
, One



2. T":'-\."D

= Three

4 Four

Question Number : 182 Question Id : 4548934719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Find the mussing character in the following question

284 1&

142 24

Options:

i
1 P

/0

63

a4

Question Number : 183 Question Id : 4548934720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Find the mizsing character in the following question :

Options:
1
1.



Question Number : 184 Question Id : 4548934721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

In the tollowing diagram, parallelogram represents women, triangle represents
sub-inspectors of police and circle represents graduates. Which numbered area
represents women graduate sub-inspectors of police ?

P

/’"“*xlﬂ:l
il P &
Al"’\ 3/ ~.B8
A

Options:

E
I

3
Z
= 8
4. 19

Question Number : 185 Question 1d : 4548934722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

Arrange the following words in the sequence in which thev occur in
dictionary :

1. Brook 2. Bandit 3. Boisterous 4. Baffle 5 Bright

Options:

42,351

1

[.2
12
=
Ll
—
L]

I
=
L
_5.-|
i

4,2,3,1,5

Question Number : 186 Question Id : 4548934723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The digit in the unit place in (1038)*" is -

Options:

2
1.~

Question Number : 187 Question Id : 4548934724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Juestion Label - Multiple Choice Cuestion

The smallest number from which if 4000 subtracted, 1s exactly divisible by 7, 11
and 13, is :

Options:

i 5001

2000

1000

Question Number : 188 Question Id : 4548934725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

e | e , eI | . [
A rope is 25— m lone. How mans pieces each of 1= o lone can be cut tromat ?
;I o S i -5 [ o]

Options:

1o
1.



Question Number : 189 Question Id : 4548934726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Find the value of (243)%° = (243,
Options:

5
1.

5 10

Question Number : 190 Question Id : 4548934727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

If 467 — 447 = 45p, then the value of 'p' will be :

Options:

i 10

15

Sub-Section Number: 4
Sub-Section 1d: 45489357
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 4548934728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Zuestion Label : Multiple Choice Question

A medical student has to secure 40% marks to pass. He gets 80 and fails by 60
marks. Find the maxinmum marks.

Options:



Question Number : 192 Question Id : 4548934729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Of the three numbers, the first in four times the second and three times the
third. If the average of all the three numbers is 95, then the third number is

Options:

1. 7

P
=]
g

(k]
Lo

il

Question Number : 193 Question Id : 4548934730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

41

The sum of three numbers A, Band Cis 95 If A -B==— and B:C= —, then B

]

Uil ko

is:
Options:

.. ko

]
[

Question Number : 194 Question Id : 4548934731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question
A, B and C enter into partnership with a total of Rs. 8,200 A's capital is
Rs. 1,000 more than B's and Rs. 2,000 less than C's. What is B's share of the
vear s profit of Rs. 2,460 ?
Options:

420
1.

He
[
s

416

Question Number : 195 Question 1d : 4548934732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The cost of a black and white TV and a colour TV are in 3 : 8 and total price of
both is Rs. 12,100. The ditterence in their prices is:

Options:
1 E=. 6,000

5 E= 0,050

Question Number : 196 Question Id : 4548934733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question
Fresh fruit contains 72% water and drv fruit contains 20% water. How mwch

drv truit trom 100 kg of fresh fruit can be obtained 7

Options:

Wke
1



Question Number : 197 Question Id : 4548934734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

If Rs. 3,000 can maintain a familv of 4 persons tor 40 days, for how long will
Rs. 10,500 maintain a familv of 6 persons ?

Options:

i 30 davs

23 davs

Question Number : 198 Question Id : 4548934735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

X works twice as fast as Y. It Y can complete a job alone in 12 days, then in how
many davs can X and Y together tinish the job ?

Options:

N 15

[ws)

Question Number : 199 Question Id : 4548934736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label - Multiple Choice Question
A cistern normally takes 4 hours to be filled by a tap but because of a leak, takes
2 hours more. In hovw many hours will the leak empty a full cistern ?
Options:
10 hrs
1.



14 hrs
0 hrs

12 hrs

Question Number : 200 Question Id : 4548934737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Rakesh on zelling a lamp for Rs. 450 beass a losz of 20%. To eam a profit of 20%,
he should zell the article for :

Options:
i Rs. 675

E= 000
2

Question Number : 201 Question Id : 4548934738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Question

The cost price of 20 pencilz is equal to the selling price of 25 pencils. The loss
percent in the transaction iz :

Options:

1 -

Question Number : 202 Question Id : 4548934739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



In how many seconds will a train 105 metres long, running at 51 km/h, cross a
man walking at 3 km/h in opposite direction ?

Options:

12 zeconds
-

5 275 seconds

= 5 zeconds

7 seconds

Question Number : 203 Question Id : 4548934740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

At what rate per cent (simple interest) will a sum of money double itself in 1o
vears ?

Options:
A%

Question Number : 204 Question Id : 4548934741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

Miti and Aditi can do a piece of work in 45 dayvs and 40 dayvs respectively. They
began to work together but Miti leaves after 'v' days and Aditi finished the rest
of the work i (x + 14) davs. After how many davs did Miti leave ?

Options:

g
1.I

5 11

0



Question Number : 205 Question 1d : 4548934742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Caestion

A mixture contains milk and water in the ratio 5 : 1. On adding 5 litres of water,
the ratio of milk to water becomes 5 : 2. The quantity of milk in the mixture is

Options:

1 5 litres

15 litres
25 litres

20 Litres

Question Number : 206 Question Id : 4548934743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

1 MBis equal to

Options:

1 500 GB

5 1024 Byte

= 1000 KB

2 1024 KB

Question Number : 207 Question Id : 4548934744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

GUI stand for -

Options:
! Great User Interface

5 Geographical User Interface



2 Graphical User Intertace

None of the three

Question Number : 208 Question Id : 4548934745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Template in Word is saved in ... format.

Options:

Amp
g

.doc
dot

dop

Question Number : 209 Question Id : 4548934746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

DWVD stands for -

Options:
) Digital Video Disc

5 Diouble Video Drive
2 Dhisk Virtual Drive

None of the three

Question Number : 210 Question Id : 4548934747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The IC chip used in computers is made of -
Options:

1 Chromdiam

5 Iron oxide



Silira

Silicon

Sub-Section Number: 5
Sub-Section 1d: 45489358
Question Shuffling Allowed : Yes

Question Id : 4548934748 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (211 to 215)
Cesticn Label | Comprehension

The total adults in a city is 60,000. The various sections of them are indicated
below in the diagram.

I — emplovees in the public sector
II — emplovees in the private sector
III — emplovees in the corporate sector

IV — self emploved

WV — unemploved

Sub questions

Question Number : 211 Question 1d : 4548934749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

What percentage of the emnploved person is selt emploved ?

Options:

-

19
1

10t
5

20

Question Number : 212 Question Id : 4548934750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1



Cuestion Label - Multiple Choice Cuestion
The number of adults emploved in the corporate sector is

Options:

37
1.__4Dﬂ

19000
27000

o000

Question Number : 213 Question Id : 4548934751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

The number ot persons emploved in both the public sector and the private
sector is :

Options:

36000
1

4£5000
27000

16200

Question Number : 214 Question Id : 4548934752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

The number of unemploved persons is :

Options:
1300

1
2
5 12000

12
= 1200

i 3000



Question Number : 215 Question Id : 4548934753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Cuestion

It the total population of the city is 2.5 lakh, the percentage of the total
population that is emploved in private sector 15

Options:
20
1.
|
P
o
i
11—
3z 2
lﬁé
4, <

Sub-Section Number: 6
Sub-Section 1d: 45489359
Question Shuffling Allowed : Yes

Question Number : 216 Question Id : 4548934754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Select the word similar in meaning to the given word :
Ostentatious :

Options:
modest

shown
2. :

vivid
=

” kind

Question Number : 217 Question Id : 4548934755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Select the word similar in meaning to the given word :

Consecrate :



Options:

hallowy
deaden
nominate

pollute
4 F

Question Number : 218 Question Id : 4548934756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Select the word similar in meaning to the given word :
Abominable :

Options:
) admirable

5 deceittul

5 beautiful

2 hatetul

Question Number : 219 Question 1d : 4548934757 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Select the word opposite in meaning to the given word

Feign :

Options:
falsifs

s ;
justity
activate

3

i generate



Question Number : 220 Question Id : 4548934758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Select the word opposite in meaning to the given word :
Virile

Options:

1 efferminate

o thrifty

= sensual

” volatile

Question Number : 221 Question Id : 4548934759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Select the word opposite m meaming to the given word :
Dank -

Options:
solid

wet

o dry

i liquid

Question Number : 222 Question Id : 4548934760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Select the word opposite in meaning to the eiven vword
Hallucination :

Options:
) regimentation

5 cheerfulness



gravity
=3

3 clarity

Question Number : 223 Question Id : 4548934761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Select the word opposite in meaning to the given word
Lure:

Options:

testify
1. ’

o ep el

=z artivate

2 hiearten

Question Number : 224 Question Id : 4548934762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Fill in the blanks with correct option :
2 CoA— iz down needs tear no fall.
Options:

whoze
1.

wihom
z.

wihich
=,

t].Lt
, tha

Question Number : 225 Question Id : 4548934763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Fill in the blanks with correct option :
This is the citv ......... I was born in.

Options:



L where

. which

= that

” what

Question Number : 226 Question Id : 4548934764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Fill in the blanks with correct option :
Thatis ... impressed me first.

Options:

which
what
wiho

why

Question Number : 227 Question Id : 4548934765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Identify the grammatical categorv of the underlined wword :

I was mediocre at drill until nw senior vear.

Options:
o

adijective
z. J

adverb

verh

Question Number : 228 Question Id : 4548934766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

I[dentity the grammatical categorv of the underlined wword :
He iz pretty good at Mathematics.

Options:
i adjective

adverh
2.

Z determiner

corjunciion

Question Number : 229 Question Id : 4548934767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

I[dentity the grammatical categorv of the underlined wword :
All the money was spent in buving a house.

Options:
adjective

adverb
determiner

pPromonan

Question Number : 230 Question Id : 4548934768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Select the correct prepositions to fill in the following blanks :

Thev refused to comply ... the UN. rezolution.

Options:

into
1.



Question Number : 231 Question Id : 4548934769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Select the correct prepositions to fill in the following blanks :

IN.5.5. volunteers are exemipted ... attendance.

Options:
after

5 of

trom

to

Question Number : 232 Question 1d : 4548934770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Select the correct prepositions to fill in the following blanks :
Gautam Buddha deprived himszelf ... jovs of life.
Options:

after
-

of
trom

with

Question Number : 233 Question Id : 4548934771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Select the correct prepositions to fill in the following blanks :

He was charged .............. theft.



Options:

1 tor

of
by

with

Question Number : 234 Question Id : 4548934772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Select the correct prepositions to fill in the following blanks :
I was informed ... the latest developments in the case.

Options:

1 ot

o with

from
=,

4 to

Question Number : 235 Question Id : 4548934773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Fill i1 the blanks with correct words -

The data also ........._._.. that violence against married women has come dowmn.

Options:

‘:.Al \.1."
1 jlmy

> shovs

= hiave shown

” had shown

Question Number : 236 Question Id : 4548934774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Fill i1 the blanks with correct words -

The court ordered a C. B. 1. .............. into the incident.

Options:
hearing

5 trial

probe

4 solution

Question Number : 237 Question Id : 4548934775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Fill in1 the blanks with correct words -

Most of the girls in rural India are married within a vear of attaining ...............

Options:
) puberty

vouth
education

cookin
4 B

Question Number : 238 Question Id : 4548934776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Fill in the blanks with correct words
Tax ._........... is a major problem in the development of India.

Options:
exaction

5 liberalization



EVASION
Y

rejection

Question Number : 239 Question 1d : 4548934777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Select the option that best expresses the meaning of the following idioms
Stand on vour dignity :
Options:

1 to demand to be treated with the respect that vou think vou deserve

to lose vour respect
- tobehave in a dignified mannex

to compromize with vour dignitv

Question Number : 240 Question 1d : 4548934778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Select the option that best expresses the meaning of the follovwing idioms
Carry coals to Newrastle

Options:

, o supply something where it is needed

to supply something where it is not needed

z tomake a place dirty

to do hard work



